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Human lungs are covered by two thin
membranes called

pleura () diaphragm
(3) meninges (4) peritoneum

Who amongst the following was
involved in the Alipore Bomb case ?
@ Aurobindo Ghosh

(2) SN.Banerjee

(3) Bipin Chandra Pal

(4) Jatin Das

Light splits when passed through a

ism. This is called of light.
@ Dispersion (2) Diffraction
(

) Reflection (4) Convergence

The perimeter of a square garden is
444 m. What is its area ?

12321 m? () 13244 m?
(3) 11131 m? (4) 888m?

The sides of a triangle are in ratio
1/3:1/4:1/5. ts perimeter is 94 cm.
The length of the smallest side is

(1) 13em @ 23¢m

@ 24 cm (4) 32cm

The largest producer of arecanut is
(1) Andhra Pradesh
) Kerala
Karnataka.
(@) Tamil Nadu

I which language were the Buddhist
Titerary works generally written ?

(1) Sanskrit (2) Urdu

@ Pali (4) Persian

36 men can complete a picce of work
in 18 days. In how many days will 27
men complete the same work ?

24 @ 28
) 34 @) 36
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Ferozabad (UP) is famous for its
(1) Leather industry
Glass industry
(3) Rubber industry.
(4) Cotton industry

Who among the following is a
prominent leader of the Narmada
Bachao Andolan ?
(1) Sundarlal Bahuguna

Medha Patkar
(3) Swami Agnivesh
(4) Baba Amte

The worlds smallest country
(1) Canada (2) Russia
@) VaticanCity (4) Srilanka

Aluminium is used in High Voltage
transmission rather than  Copper
becatse of it's better
(1) Conduction
(2) Ductility
Malleability
Cheaper & easier availability
Panchatantra was written by
(1) Valmiki
Vishnu Sharma
() Ved Vyas
(4) Kautilya

The bacteria that cause cholera is
({?Vibrxo (2) Spirillum
(%) Bacillus (4) Coceus
How many ovaries will a man have ?
(1) One

) Two

(3) Three

(@) None of the above

T 414 is divided into three parts such
that A get 2/3 of B and the ratio

between B & C is 5:7. How much
will A get ?

(1) 260 290

@3) 2135 @ 2189
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Which of the following contributes

most in electric power generation in

India?

(1) Hydel (2) Winds
‘Thermal () Atomic

What s the study of Fungi known as ?
Mycology () Fungalogy
@) Biology (4) Pathology

Which is the main activity of the
Eskimos during the short period of

@@ Hunting

@) Agriculture
(3) Lumbering
(4) Animal grazing

Which of the following is the hardest
metal ?

(1) Gold (2) Iron

(3) Platinum @ Tungsten

Who founded the Communist Party
in Russian Revolution ?
Lenin (2) Marx
Stalin (4) Trotsky

A Bill which deals with only
provisions dealing with imposition,
repeal, remission or regulation” of
taxes is called

(1) Adjournment Money Bill
(3) Motion (@) ‘Ordinance

Mangalyaan, tli mission to Mars,
was launched o

(1) 5-10-12 5-11-13
(3) 542402 @ 59-14

Péter. Parker is the original name of
which fictional superhero ?

(1) Phantom (2) Batman
(3) Superman @ Spiderman

All the countries have a common
border with India, except
(1) Nepal (2) Bhutan

(3) Myanmar Thmlzud
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Pimpri is associated with
(1) Newsprint ~ (2) Fertilizer
(3) Manganese @ Anti-biotic

The unit which measures electric
resistance is

(1) Joules @ onm
(3) Ampere @ Volt

Stainless steel is an alloy of steel and
(1) Copper Chromium
(3) Platium (@ Silver

Graphite and Diamond are allotropes
of which clement

(1) Arsenic @ Carbon
() Seleniu 7y, * (%) Germanium
Amongs the following, which movie
is the highest grossing ?
Dhoom 3
@) Krish3
(3) Dabangg2
(4) Chennai Express

Zerois

(1) positive

(2) negative

@D neither positive nor negative
(@) None of the above

6897 is divisible by
(1) 11only
(2) neither 11 nor 19
3) 19 only
@ both 11 and 19

Upper age limit for appointment as
Supreme Court Judge is

(1) 58 years (2) 60 years
(3) 62 years @ 65 years

Divide 0.000805 by 0.007
1) 115 @) 115
0.115 (4) 0.000115

DKV
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The diameter of a
protractor is 7 cm.

perimeter ?
(1) 1lem @ 18em
(3) 21em @ 24cm

A hemispherical tank full of water is
4
emptied'by a pipe at the rate of 35
litres per second. How much time
will it take to empty half the tank, if
the diameter is 3 m ?
(1) 18.4 minutes (2) 12.3 minutes
16.5 minutes  (4) 17.2 minutes

A batsman makes a score of 87 runs
in the 17" match and thus increases
his average by 3. Find his average

afier 17" match.
2) 37
&%

(1) 36

) 38

Average of first five multiples of 3 is
9

®3) 13 @ 15

‘Who, amongst the following, came to

India with Sultan Mahmud of Ghazni 2
Alberuni (2) IbnBatta

(3) IbnHaugal  (4) Mas'udi

The Commonwealth - Garnes 2014
were held in
(1) Chicago
(3) Melbourne

Glasgow
) Oslo

“Jatakas’ \are ancient sacred texts
associated witl
(1) Saivism
(2). Vaishnavism
Buddhism
@) Animism

Which of the following organ
support the foetus ?

(1) Ovary Uterus

(3) Kidneys (@) Embryo

/
v

semicircular
What is its

45.
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@ Luni
() Narmada

The Dronacharya award given to the
hest S0 I

(1) Archer (2) Chess player
(3) Tennis player (3) Coach

Which is India’s Highest Military
Award ?
(1) Bharat Ratna

@ Param Vir Chakra

(3) Padma Bhushan
(4) Shaurya Chakra

OfZ 24,500 available for renovation,
25% is given for making roof. How
much is left for othér works ?

(1) 26,125 18375
(3) 218357 76,152

The ‘French made their advent in

India through
(1) _Punjab (2) Rajasthan
(3) Goa Pondicherry
Which of “the following' is a
metropolis ?

(1) Nagpur (2) Coimbatore

@ Mumbai (4) Bhopal
Which of the following rivers has its
source near Ajmer in the Aravalli
Range ?

(2) Mahi
(4) None of these
The speed of a 110 kmph car is
increased by 20%. What will the new

speed be ?
(1) 120 kmph @ 132 kmph
(3) 136 kmph 150 kmph

792.02 + 101.32 - 206.76
676.58 (2) 687.58
686.58 (4) 586.58

Which of the following is a fish ?

(1) Whale 3 Dolphin
@

(3) Turtle Shark
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The newest state formed is
Telengana  (2) Goa
S Chhattisgarh  (4) Uttarakhand

A man buys an item at ¥ 1200 and
sells it at the loss of 20 percent. Then
what is the selling price of that item ?
(1) 2660 ) 2760
(3) 2860 @ 90

Which of the following is a primary
occupation ?
(1) Communication
(2) Diamond cutting
Lumbering
@) None of these

Aqua regia is

(1) Mineral water

(2) Water sport
Nitric Acid & Hydrochloric Acid
Deodorant

18, then find the value of x
2) 3

@ 6

Which among the following is NOT
aclassical dance of India ?

(1) Kuchipudi ~ (2) Odissi

(3) Manipuri Rasleela

Who is known as ‘Liftle Corporal® 2
(1) Adolf Hitler
Napoleon Bonaparte
() William E. Gladstone
(4) Noneof the above

Right to’ Constitutional Remedies
comes under

(1) Legal Rights

(2) Natural Rights

@) Fundamental Rights

(@) Hereditary Rights

Commission was seit to enquire
The Government of India Act, 1919.

@ Simon (2) Montague
() Chemsford  (4) Dominion

62.

In FIFA 2014 World Cup, Germany
defeated in the semifinals
to reach Finals.
(1) Argentina
Q@ Brazil

(2) Netherlands
(4) England

Which has the fastest top speed
amongst the following ?
(1) Bullet train
Supersonic jet
(3) Sound
(4) GSLV Rocket

The radii of two circles are 19 cm &
9 cm. Find. the radius of the circle
which has circumference equal to the
sum of circumference of the two
circles.

(1) .22cm (2) 25cm
(3)_27cm 28 cm

Whio amongst the following Mughal

rulers reimposed “Jaziya” ?
(1) Akbar @ Aurangzeb
U

(3) Jahangir Humayun

Merino sheep rearing is the
predominant pastoral activity in

(1) Turkey Australia
(3) Denmark (4) None of these

The Planet with the shortest day is
Jupiter () Satum
Venus (4) Mercury

What is the name of NASA’s famous
Space Telescope ?
(1) BUBBLE

@ HUBBLE

100 students took part in exam. 1f
pumber of girls are 40 more than
number of boys, find the number of
boys who have taken part in the
exam.

(1) 60 @

G 15 @ 10

(2) RUBBLE
(4) STUBBLE

DKV1
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Sum of ages of A & B is 55. If the
ratio of their ages is 6:5, what is the
age of A in years ?

1) 25 @ 30
3) 35 @ 40
‘Who administers the Oath of Office
1o the President ?
The Chief Justice of India
@) The Speaker
(3) The Prime Minister
(4) The Vice-President

What is the symbol of Antimony ?
(1) Au @) Al

(3) Ag

Which is not a natural fibre 7
(1) Cotton (2) Wool
@ Rayon ) Jute

Suman bought 60 sheep at ¥ 120
cach. He sells 40 at ¥ 150 cach. 10
die. What should be selling price of
the remaining sheep, if he wants a
profit of 7 800 2

1) 2150 2200

3) %250 @ 2180

Which country is_the. source for
Fundamental Dutics 2

Russia () Germany
() UsA (4) Canada

At 5% per. annum simple interest,
Rahul borrowed ¥ 500. What amount
will he pay to clear the debt after 4
years ?

) 2750 @) 2700

(3) 2650 ‘ 2600

Wind dispérsed sceds have
Wings & Hair

@) Hooks

(3) Spines

(4) Fibrous Outercoat
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A jourey of 552 km takes 6 days.
Ho»\  long will a jouney of 1012 km
take

(x) qdays @ 11days
(3) 13 days @) 15 days

The Quit India Movement was
started in the year

@ 1992 @) 1945

(3) 1947 ) 1919

A tower casts a shadow that is 432 m
long. At same time a-person who is
2 metres tall casts a shadow 6 metres
long. What is the height of tower 2
(1) 216m 144m
(3)_108m @ 72m

One of the following places does not
have a port. Which is this ?

(1) Chennai (2) Cochin

(3) Vizag (3) Bangalore

Acoustics is the study of
(1) Light (2) Magnetism
() Heat Sound

Which state is the biggest tea
producer in the country ?

Assam (2) Tamil Nadu
(3) Karnataka (4) Andhra Pradesh

In 43,596 what digit is in ten
thousands place ?

@ s
@) 9 @ 6
Rice and Wheat are
(1) Millets (2) Pulses
@ Cereals (4) Oilseeds

Sikhism was founded in
(1) 1000 BC @ 1500 AD
(3) 300BC (@) 700 AD

o
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How many times Equinox, when Sun
is vertically above the Earth’s
equator and the day & night are
equally long, occurs in a year ?

Two (2) Three
(3) Four (4) Not fixed

Baba Amte, the renowned social
worker, was primarily ~associated
with the welfare of people having
(1) Tuberculosis

Leprosy
(3) Cancer
(4) Hearing Impaired

Which of the following
adaptation for cold climates ?
(1) Long Ears

Thick Fur
(3) Sweat Glands
(4) Light Bones

is an

Lungs are the respiratory organ in
(1) Fish (2) Earthworm
(3) Cockroach (@) Crow

Which is the largest continent of the

(1) Antarctica
@) Asia
Which of the following is the most
ideal  condition for chemical
weathering ?

(1) Hot and humid

@) Hot and dry

(3)-Cold and dry

(4) Cold and humid

(2)-Afvica
(4) Australia

What least value that should replace
* in 223*431 so that the number
become divisible by 9 7

m 3 [R]

® 6 @ s

93.

°
3

97.

N

98.

8

99.

8

100.

On 22" December which of the
following places has the longest day
and shortest night ?
Q@ Melboume
(3) Madrid

(2) Moscow
(4) Madras

What is the colour of the hottest star 2
(1) Red (2) White
@ Violet

(4) Blue

‘What is the main gas found in the air
we breathe ?

(1) Oxygen

(2) Carbon dioxide

@ Nitrogen

(4) Argon

In amap 1000 km is shown by 1 cm,
then.the distance shown by 3 cm line
is

3000 km
(3) 30km

(2) 300km
) 3km

What will be the range of following
data ?

32,41,28, 54, 35,26, 33,23, 38, 40
(1) 25

@31 ) 53

If two lines intersect at a point, then the
vertically opposite angles are always
(1) equal

(2) not equal

(3) supplementary

(4) complementary

When 89 marbles are arranged in
three each in a packet, then the left
out marbles are
m 1 7

3 3 @ 4

Which of the following will give
answer with negative sign ?

(1) -48+79 ~48+30
(3) —40+40 @) 48+(-39)

DKV1
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